Boletín de la Sociedad Matemática Mexicana Vol. 24 No. 2, 1979

ABOUT A NONLINEAR SYSTEM IN R X R² WITH ONE DIMENSIONAL CONTROL*

BY E. ESPINOSA, A. PLIŚ AND R. SUÁREZ

0. Abstract

Considering the system

(1)
$$\dot{x}(t) = ua(t, x) + (1 - u)b(t, x),$$

where $0 \le u \le 1$, $x(t_0) = x^0$, with $x \in R^2$. Under certain assumptions in respect to the rotation of the segment [a(t, x), b(t, x)] and the regularity of a(t, x), b(t, x), we give a local characterization of the structure of the family of trajectories. For instance we prove the uniform convexity of the accessible sets.

1. Introduction

We can consider the system (1) without controls in explicit form

(2)
$$\dot{x}(t) \in [a(t, x); b(t, x)], x(t_0) = x^0,$$

where the set [a; b] is the closed segment with end points a and b $(a, b \in R^2)$. A function x(t) is called a trajectory of (2) if it is absolutely continuous on any compact subinterval of I, where I is an open interval, and satisfies condition (2) for almost every $t \in I$.

By $\Omega(t)$, $t \ge t_0$, we denote the set of points x(t) where x is a trajectory of (2), this set is called the accessible set of (2) at t.

We define

$$\Omega^t = \{(s, y) \in \mathbb{R}^3 | y \in \Omega(s), t_0 \le s \le t\}$$

and call it zone of emission of (2) on $[t_0, t]$

Example 1. Let the system

(3)
$$\dot{x}(t) \in [(0, 0); (dt + ex_2, 1)], x(0) = (0, 0).$$

It is easy to see that the accessible sets of (3) are like the four cases on fig. 1 that correspond to d > e, d = e, d < e and d = 0, respectively

In this paper we are interested in systems with uniformly convex accessible sets like fig. 1(a).

Definition 1. A compact set $M \subset R$ is called a *lens* if its boundary consists of two simple arches $x(\tau), y(\tau) \in C^2, 0 \le \tau \le 1, x(0) = y(0) \ne x(1) = y(1)$, with curvature of opposite sign and such that $x'(\tau)x'(0) > 0, y'(\tau)y'(0) > 0$ for each $\tau \in (0, 1]$.

^{*} This paper was presented at the IV Conference on Differential Equations México-USA, held at the Universidad Autónoma de Sonora (Sonora, México, January 1976).



We shall prove the following. For $\Omega(t)$ (for t close t_0) to be a lens set, it is enough to suppose that $a(t, x), b(t, x) \in C^2$ and satisfy

Hypothesis G. In the point (t_0, x^0) the following inequality holds

(4)
$$\left| \det \left\{ a - b; \frac{\partial (a - b)}{\partial x} \cdot (a - b) \right\} \right|$$

 $< \left| \det \left\{ a - b; \frac{\partial (a - b)}{\partial t} + \frac{\partial a}{\partial x} b - \frac{\partial b}{\partial x} \cdot a \right\} \right|$

where, det $\{v; u\} = v_1 u_2 - v_2 u_1, v = (v_1, v_2), u = (u_1, u_2).$

Remark 1. If the functions a, b do not depend on x, we get from (4)

(5)
$$0 < \left| \det \left\{ a - b; \frac{\partial(a - b)}{\partial t} \right\} \right|.$$

This condition was obtained by S. Lojasiewicz Jr. (see [1]).

Example 2. We consider the system

(6)
$$\dot{y}(t) \in (y_2, -y_1) + [(0, 0); (y_1 \cos t \sin t + y_2 \cos^2 t + \sin t, -y_1 \sin^2 t - y_2 \cos t \sin t + \cos t)]$$

where $y = (y_1, y_2) \in \mathbb{R}^2$. This system satisfies (5) nevertheless, their accessible sets are like fig. 1 d.

We shall also obtain results of the following type:

Definition 2. We call f(t, x) a bang-bang control function of (2) with k changes in $[t_0, t_0 + T]$, if there is a sequence $t_0 = s_0 < s_1 < \cdots < s_{k+1} = t_0 + T$ such that f(t, x) is equal to an end point control a(t, x) or b(t, x), on each of the interval $[s_i, s_{i+1}]$, $i = 1, \ldots, k$, and such that any neighboring intervals equals different end points. We call the corresponding solutions a bang-bang trajectory with k changes.

For instance, considering the bang-bang controls without change a(t, x) and b(t, x), we obtain the system

(7)
$$\dot{x}(t) = a(t, x(t)), \quad \dot{y}(t) = b(t, y(t)).$$

And then denote by $\alpha(t; t_1, x^1)$, $\beta(t; t_2, x^2)$ to the solutions of (7) that satisfies $\alpha(t_1; t_1, x^1) = x^2$ and $\beta(t_2; t_2, x^2) = x^2$.

The bang-bang controls with one change are

(8)
$$f(t, x, \tau) = \begin{cases} a(t, x) & \text{for } t_0 \le t \le \tau \\ b(t, x) & \text{for } t_0 \le \tau \le t \end{cases}$$
$$g(t, x, \tau) = \begin{cases} b(t, x) & \text{for } t_0 \le t \le \tau \\ a(t, x) & \text{for } t_0 \le \tau \le t \end{cases}$$

and their respective solutions are given by

(9)
$$x(t, \tau) = \beta(t; \tau, \alpha(\tau; t_0, x^0))$$
$$y(t, \tau) = \alpha(t; \tau, \beta(\tau; t_0, x^0)).$$

We shall prove that α , β , $x(t, \tau)$ and $y(t, \tau)$ are the unique optimal solution of (2) with respect to time.

2. Preliminary Results.

It is assumed subsequently, that t is near to t_0 .

LEMMA 1. A square P(t) exists, continuous in the Hausdorff's sense, such that $\alpha(t; t_0, x^0), \beta(t; t_0, x^0)$ are opposite vertices of P(t) and it contains $\Omega(t)$.

Proof. Let $\xi > 0$. Let d be a vector in \mathbb{R}^2 , we can define the set

(10) $D(\xi) = \{rd + v(r) \mid 0 \le r \le 1, v(r) \cdot d = 0 \text{ and } \|v(r)\| < r\xi\}$

and the system

(11)
$$\dot{x}(t) \in a(t, x) + D(\xi), x(t_0) = x^0.$$

It is easy to see (since a(t, x) is Lipschitzian) that the accessible set of (11) is contained in the set $\alpha(t; t_0, x^0) + (t - t_0)D(\xi')$, where $\xi' > \xi$ and for t close to t_0 .

If $d = (1 + \xi) \{b(t_0, x^0) - a(t_0, x^0)\}$, there exist positive numbers T, M, such that

(12)
$$[a(t, x), b(t, x)] \subset a(t, x) + D(\xi),$$

for $t \in [t_0, t_0 + T]$, $||x - x^0|| \le M$. From (12) we have that $\Omega(t)$ is contained in the accessible set of (11) and hence

(13)
$$\Omega(t) \subset \alpha(t; t_0, x^0) + D(\xi').$$

We can do the same for b and obtain

(14)
$$\Omega(t) \subset \beta(t; t_0, x^0) + D'(\xi').$$

Completing the proof.

LEMMA 2. Let the functions $\Sigma: (t, \tau) \to (t, x(t, \tau)), \overline{\Sigma}: (t, \tau) \to (t, y(t, \tau))$ where $x(t, \tau), y(t, \tau)$ are given by (9) and also for $\tau > t$. Then the image of the functions Σ and $\overline{\Sigma}$ are surfaces, and their normal vectors satisfy

(15)
$$N(t, x(t, \tau)) \cdot (1, ua(t, x(t, \tau)) + (1 - u)b(t, x(t, \tau))) \neq 0$$
 for $u \neq 0$,
 $\tilde{N}(t, y(t, \tau)) \cdot (1, ua(t, y(t, \tau)) + (1 - u)b(t, y(t, \tau))) \neq 0$ for $u \neq 1$.

Proof. If we denote $a(t) = a(t, x(t, \tau)), b(t) = b(t, x(t, \tau))$ we have

(16)
$$\frac{\frac{\partial x(t,\tau)}{\partial t} = b(t)}{\frac{\partial x(t,\tau)}{\partial \tau} = a(\tau) - b(\tau) + (t-\tau) \frac{\partial b(\tau)}{\partial x} \cdot [a(\tau) - b(\tau)] + o(t-\tau)}$$

where $\lim_{\tau,t\to 0} \frac{o(t-\tau)}{t-\tau} = 0$. Then

(17)
$$\frac{\partial \Sigma}{\partial t} = (1, b(t)) \frac{\partial \overline{\Sigma}}{\partial \tau} = \left(0, a(\tau) - b(\tau) + (t - \tau) \frac{\partial b(\tau)}{\partial x} | a(\tau) - b(\tau) | + o(t - \tau) \right),$$

and they are linearly independent vectors. Hence the image of Σ is a surface.

We define $N = \frac{\partial \Sigma}{\partial t} \times \frac{\partial \Sigma}{\partial \tau}$, so that

$$N(t, x(t, \tau)) \cdot (1, ua(t) + (1 - u)b(t)) = u \det\{a(\tau) - b(\tau)\}$$

(18)

+
$$(t-\tau)\frac{\partial b(\tau)}{\partial x}(a(\tau)-b(\tau))+o(t-\tau); a(t)-b(t)\},$$

and if we do just the same for $y(t, \tau)$, we find

(19)

$$\tilde{N}(t, y(t, \tau)) \cdot (1, u\tilde{a}(t) + (1 - u)\tilde{b}(t)) = (1 - u)\det\{a(\tau) - b(\tau)\}$$

+
$$(t-\tau)\frac{\partial a(\tau)}{\partial x}(a(\tau)-b(\tau))+\tilde{o}(t-\tau);a(t)-b(t)\}.$$

Finally, we get from hypothesis G

$$\det\{a(\tau) - b(\tau) + (t - \tau) \frac{\partial b(\tau)}{\partial x} (a(\tau) - b(\tau)); a(t) - b(\tau)\}$$
$$= \det\{a(\tau) - b(\tau) + (t - \tau) \frac{\partial b(\tau)}{\partial x} (a(\tau) - b(\tau))$$
$$+ (t - \tau) \frac{d}{dt} (a(t) - b(t)) \mid_{t=\tau} + o(t - \tau)\}$$

ABOUT A NONLINEAR SYSTEM

(20)
$$= \det\{a(\tau) - b(\tau); (t - \tau) \frac{d}{dt} (a(t) - b(t))|_{t=\tau} - \frac{\partial b(\tau)}{\partial x} (a(\tau) - b(\tau)) + o(t - \tau)$$
$$= (t - \tau) \det\{a(\tau) - b(\tau); \frac{\partial}{\partial t} (a - b)(\tau) + \frac{\partial a(\tau)}{\partial x} \cdot b(\tau) - \frac{\partial b(\tau)}{\partial x} \cdot a(\tau) + o(t - \tau) \neq 0,$$

and the proof is completed.

LEMMA 3. Let $x^{t}(\tau) = x(t, \tau), y^{t}(\tau) = y(t, t_{0} + t - \tau)$ where x, y given by (9). Then the curves x^{t}, y^{t} (for $\tau \in [t_{0}, t]$) have curvature of different sign.

Proof. If $\gamma(\tau)$ is a curve in \mathbb{R}^2 and $\mathbb{C}(\gamma(\tau))$ its curvature, we have that

sign
$$C(\gamma(\tau)) = \text{sign} (\dot{\gamma}_1 \ddot{\gamma}_2 - \dot{\gamma}_2 \ddot{\gamma}_1).$$

To find the curvature sign of x^t and y^t , we write

$$\frac{\partial}{\partial \tau} x^{t}(\tau) = a - b + O^{1}(t - t_{0})$$
(21)

$$\frac{\partial}{\partial \tau} y^{t}(\tau) = a - b + O^{2}(t - t_{0}),$$

$$\frac{\partial}{\partial \tau^{2}} x^{t}(\tau) = \frac{\partial}{\partial t} (a - b) + \frac{\partial(a - b)}{\partial x} \cdot a - \frac{\partial b}{\partial x} \cdot (a - b) + O^{3}(t - t_{0})$$

$$\frac{\partial^{2}}{\partial \tau^{2}} y^{t}(\tau) = \frac{\partial}{\partial t} (b - a) + \frac{\partial(b - a)}{\partial x} \cdot b - \frac{\partial a}{\partial x} \cdot (b - a) + O^{4}(t - t_{0})$$

so that

(22)
$$\dot{x}_1^t \dot{x}_2^t - \dot{x}_2^t \ddot{x}_1^t = A + B + C + O^5(t - t_0)$$
$$\dot{y}_1^t \dot{y}_2^t - \dot{y}_2^t \ddot{y}_1^t = A - B + D + O^6(t - t_0)$$

where

(23)

$$A = \det\left\{a - b; \frac{\partial a}{\partial x} \cdot a + \frac{\partial b}{\partial x} \cdot b\right\}$$
$$B = \det\left\{a - b; \frac{\partial a}{\partial t} - \frac{\partial b}{\partial t}\right\}$$
$$C = \det\left\{a - b; -2\frac{\partial b}{\partial x} \cdot a\right\}$$
$$D = \det\left\{a - b; -2\frac{\partial a}{\partial x} \cdot b\right\}$$

and where the functions are valued on (t_0, x^0) and $\lim_{t\to\infty} O^j(t-t_0) = 0, j = 1, 2, \ldots, 6.$

From hypothesis G it follows

$$|A + (C + D)/2| < |B + (C - D)/2|$$

and from (22), $C(x^{t}(\tau))$ and $C(y^{t}(\tau))$ must be of different sign for t near to t_{0} .

3. The Main Theorems

Let E(t) be the accessible set by bang-bang trajectories. Putting all of the above results together we can state.

THEOREM 1. For t close to t_0 we have:

a) There exists a lens set M(t), continuous in the Hausdorff sense, such that its boundary is composed of the curves x^t and y^t

b) If a bang-bang trajectory has more than one change, then it is in the interior of M(t).

c) If p is in the interior of M(t), then there are two different trajectories with two changes x and y, such that x(t) = y(t) = p,

d) M(t) = E(t).

Proof.

a) It follows from lemmas 1, 3 and the continuity of $C(x^{t}(\tau)), C(y^{t}(\tau))$

b) Let $t \in (t_0, t_0 + T)$ be fixed. It is sufficient to prove it for trajectories with two changes. For instance let

(24)
$$H^{\tau,\nu}(s,x) = \begin{cases} b(s,x) & \text{for } t_0 \le s \le \nu \\ a(s,x) & \text{for } \nu \le s \le \tau \\ b(s,x) & \text{for } \tau \le s \le t \end{cases}$$

be a two changes control, then $x(t; \tau, \nu) = \beta(t; \tau, \alpha(\tau; t_0, x^0)))$ it is the correspondent solution. If we fix $\bar{t_0} = \nu$ and $\bar{x}^0 = \beta(\bar{t_0}; t_0, x^0)$ we can define as in lemma 3

(25)
$$\begin{aligned} x^{t,\overline{t_0}}(\tau) &= x(t,\,\tau,\,\overline{t_0}) = \beta(t;\,\tau,\,\alpha(\tau;\,\overline{t_0},\,\overline{x^0})) \\ y^t(\tau) &= y(t,\,\overline{t_0}+t-\tau) = \alpha(t;\,\overline{t_0}+t-\tau,\,\beta(\overline{t_0}+t-\tau;\,\overline{t_0},\,\overline{x^0})). \end{aligned}$$

From lemma 3, $x^{t,\overline{t_0}}$ has curvature of different sign that $y^t(\tau)$ and of equal sign to $x^t(\tau)$.

It is enough to prove that $x^{t,\overline{t_0}}$ and x^t , do not have different intersection that $\beta(t; \overline{t_0}, \overline{x^0})$ (see fig. 2). Suppose that it does not hold, then there exist τ_1, τ_2 such that $\overline{t_0} < \tau_1 < t, \tau_2 < t$ and

(26)
$$x^{t,t_0}(\tau_1) = x^t(\tau_2) = z.$$

We obtain from the uniqueness of the system (7) with the initial condition (t, z) that

(27)
$$x^{s,t_0}(\tau_1) = x^s(\tau_2)$$
 for $s \in [l, t]$

88



Fig. 2

where $l = \max{\{\tau_1, \tau_2\}}$. If $l = \tau_1$, then we get (28) $y^{\tau_1}(\tau_1) = \alpha(\tau_1; \bar{t_0}, \bar{x}^0) = x^{\tau_1, \bar{t_0}}(\tau_1) = x^{\tau_1}(\tau_2)$

which contradicts (a). If $l = \tau_2$ then

(29)
$$x^{\tau_2,t_0}(\tau_1) = x^{\tau_2}(\tau_2) = \alpha(\tau_2; t_0, x^0) = y(\tau_2, t_0)$$

and with

(30)
$$\begin{aligned} x^{\tau_2, \bar{t}_0}(\tau_2) &= \alpha(\tau_2; \bar{t}_0, \bar{x}^0) = y(\tau_2, \bar{t}_0) \\ x^{\tau_2, \bar{t}_0}(\bar{t}_0) &= \beta(\tau_2; \bar{t}_0, \bar{x}^0) = y(\tau_2, \tau_2) \end{aligned}$$

we find that the curves $x^{\tau_2, \overline{t_0}}$ and y^{τ_2} have three different intersections, and from lemmas 1, 3 and the continuity of $C(x^t(\tau))$, $C(y^t(\tau))$, we can see that it is a contradiction for t close to t_0 . The proof of (b) is completed.

c) If we define $F: [t_0, t] \times [-1, 1] \rightarrow R^2$ by

$$F(\bar{t}_0, \tau) = \begin{cases} x^{t, \bar{t}_0} ((t_0 - t)\tau + \bar{t}_0) & \text{for } \tau \in [-1, 0] \\ y^t ((t - \bar{t}_0)\tau + \bar{t}_0) & \text{for } \tau \in [0, 1] \end{cases}$$

it is easy to prove that F is a homotopy of the boundary of M(t) on $\beta(t; t_0, x^0)$, where $F(\bar{t_0}, \tau) \in M(t)$, for all t_0, τ . From here, for each $p \in M(t)$ there exists $\bar{t_0}, \tau$, such that $p = F(\bar{t_0}, \tau)$, but also $y^t \in \partial M(t)$, from where, if p is in interior of M(t) then $p = x^{t, \bar{t_0}}((t_0 - t)\tau + \bar{t_0})$ for $\tau \in [-1, 0]$.

Repeating the procedure for y instead of x and α instead of β , (c) is proved.

d) Its proof follows from (a), (b) and (c).

THEOREM 2. For t close to t_0 we have

e)
$$E(t) = \Omega(t)$$

f) Let A and B the graphic of $\alpha(t; t_0, x^0)$ and $\beta(t; t_0, x^0)$ respectively. Then the set $\partial \Omega^t - (A \cup B)$ is a smooth set.

ESPINOSA ET AL.

g) The solution x(t) of (2) is on the boundary of Ω^t if and only if x(t) is a bang-bang trajectory with one or none changes.

h) Each point of the boundary of Ω^t is reached by one and only one trajectory. At each point in the interior of Ω^t arrive at least two different trajectories.

Proof.

e) It is well known (see [2]).

f) It follows from lemma 2, and from (a), (d) and (e).

g) Suppose that $\gamma(s)$ is a solution of (2) on $\partial\Omega^t - (A \cup B)$. Then from (15) we have that $\gamma'(s) = b(s, \gamma(s))$ (or $a(s, \gamma(s))$), for each s such that $\gamma'(s)$ there exists. Thus there exist \bar{t}_0, \bar{x}^0 such that $\gamma(s) = \beta(s; \bar{t}_0, \bar{x}^0)$, and if s is decreasing, there exists \bar{s} such that $(\bar{s}, \gamma(\bar{s})) \in A$ (or B), concluding the proof.

UNIVERSIDAD AUTÓNOMA METROPOLITANA, UNIDAD AZCAPOTZALCO, MÉXICO, D. F.

CENTRO DE INVESTIGACIÓN Y DE ESTUDIOS AVANZADOS DEL IPN MÉXICO, D. F.

INSTYTUT MATHEMATICZNY PAN, WARSAW, POLAND.

References

- [1] S. LOJASIEWICZ JR. Some properties of accessible sets in nonlinear control systems, Annales Polon. Math., to appear.
- [2] T. WAŻEWSKI. On an optimal control problem, Proc. of the Conf. Diff. Eq. and their Appl. held in Prague in Sept. 1962.

90